TN T EEHE

AR i 2

() »(

AT R PRI ST | wmEs | i 5
B LA, 2 H | o | wan | dmrean A
T E - L 4 At
B R Sl S %Eﬁﬂ B
| 2R £l _E IR 6 1 3
BN DE R 2 2
:.;ﬁj.t{t 2 2
=5 i 2E [E 7R 6 3 3
s PEAEED 3 3
iﬁﬂ%&a’% 0.4 ((4))—
* SaniEK 0.3 — (3]
TR B 2 2
HIERZESE 0,3
Hh PR S TR 5 5 5 3
H AN B PRSE 0.3
N s3It 2 2
n K BT - R 0.7 )
e 3 3
??H 3 3 —
" o B 0,3 —T3
oo TFA 2 2
BEDB 2 P
BEC 2 2
LB 2 D
m%%@ 0,4 (4))—
. = 2 2
& i [ 0,4 | )
W) FER 2 2
d{%ﬂx 0.4 ((4) —
= i 2 2 3
PRIEIRE e 5 7 T
R 0,2 —
el 0,2 —|2
E ) ESED 0,2 —
N 0,2 —
*iﬂ} B f B 0 2 —_
T o=y —v a1 1 7
WEaIa=r—ari 4 4
G a=b—a 4 4
%S o e 2 2
FR L - Fein T 0,2 = 2
SR PE R B 0,2 —1 2
*XHE U J o A 0.2 — )
2
2
28 26, 28 26,28
0 0.2 0.2
T T T
20 20 70
T T T
2
TR 2E D 1 B s I
5047 2 1]

) & 4 B{LRIURET D,




TN 7 A ER AR AR AR

AT R PR YRS 5 55 | #Es | i 75 1t
B LA, 2 H | e | mwe | dmrean A
T E - L 4 TR,
B E A [ R R
| 2R £l H NI 4% 1 2 3
ifMt@l ED 2 2
e 2 2
Fif] E 3 3
PR 2 2
Hh PR S TR A 5 5
7N J5W) A 2 2
| 3 3
%211 3 3 -
" oy | 0, 2 2
oo HFA 2 2
BFED 2 P
BEC 0.2 @)
BT 2 2
ﬂ:%i%@ 0,3 ((3))
N L 2 2
S T 0.7 —1y
i%%@ 2 2
{K’& 0.3 ((3))
= i 2 2 3
Y RnNe A 5 : :
R 0,2 —
£ ity el 0,2 12
%j’é‘ I 0 2 1
= Tan o=y a1 3 3
o il r=mrreve=rren 7 5 5
X = e 2 2
I A T
e IO I A S| e 21 16 TR
e 63?7“3 3 3
e 6 3 3
R 2. 4 2 — )
T 5 B L 2 2 —
L i BHEZAT 0,2 127
T T BB e AT 0,2 @)
RS 1 2 P
PRk ot 2,5 2 ((3)—
R 2. 4 2 =12
FEPE B 0,2 =
He i L 0,2, 4 J @)
*EET 2T AT 01 (1)
26, 27, 29,
i 3 R W [ R = 30, 31, 33, 6,8,9,10, 11, 12
2 (FM) & B oBIEEArEKEH 155,07 7 13,14 1514, 15, 17
T
20 29, 30 20
A T T T T
/‘E ﬁ " 1
RED LR Sk
507y 2 7]

51 TE#®I) 28z, [IXESREE) 2 B85,

%52  TREZRIRIEONRM ) 2 B3, TRRENIE 3BALO 9 H 2 BAL T 5.
H%E3  2FRO [RPE&ET 2TV AT N O 1B, @RTEFKREPIIRET S,
54 3FRIC, [ 12 ) 24 BAEREET D,



TN 7 AR A RR AR R KR

| L, [ e | cemEs | S B
ik A EEL | R | maR | AmTaEan Ak
I EN RS s T ER)
F K E T IR || R IR
ZEL piais H NI 673 1 2 3
TN DE R 2 2
i 2 2
3 3
HEBRIE s - 2 >
7 = N IE 2 2
?1 3 3
% s 1 3 3
E R TN 2 2
B 0.2 @) —
PR 2 2
b N = YRR 2 2
BB 2 2
N NG 8 2 3 3
R 0,2 —
B i B 0,2 —12
=8 1 0.2 —
= FEdsa=y—vav 1 3 3
o W Pesa—r— s 4 2 2
Ed e R IE 2 2
— 1= 3& m
H 4850 ) 15 14,16
3 3
3 3
6 3 3
2 2
2 2
2 2
7 1 3
3 3
5 3 2
3 3
2)—
9 7 3. 15
T
20 29 29
T T T
T
FEE 0D 1 B F I
5075y 2 7




TR 7 A A RR AR R AR 3R

% 1
5 2
% 3
i 4
% 5

MERT) 2 HALE,
A B 7 E7eOER ) 2 AT,
2ERD,
3R,
3R,

THfeFa—x - ffa—2e b (

) »A
) 2K

[T 2 WAL CRET 5,
[FREERFZE ] 3HALD S5 B 2 AL CRET D,

) PIE TR ET 27V AT A &R,
} %4 HALRIRBET S,
) & 4 BALEINBIET 5,

20 43 A FRIBIRNT I W5 18 5 AR FREA | TR 75 1
&5 WA 42 H R | TRy - e | ARTEAR AR
B I L4 TEEFa—X T — A
B E I || R AR Y TR B AR
R A H N ¥k 1 2 3 VA 1 2 3
EN2IEE | 2 2 2
= e ook 2 2 2 2
e 3 3 3 3
- RS 2 2 2 2
HOFRIEE S BRI D 2 2 2 2
N = EAFiS 2 2 2 2
e 3 3 3 3
%%H 3 3 - 3 3 -
, . T 0,2 2)7] 0,3 27
oo TCEA 2 2 - 9 2
BB 2 2 2
BEEC 0.2 D= 2 )=
NP 2 2 2 2
{K@E@ 0,3  ((3)) 0,3 —((3))
g 3 2 2 2 2
& i b 0,4 4 0,4 (4)
R 2 2 2 2
%ﬂx 0.3 —((3)) 0.3 —((3))
- 5 7 2 2 3 7 2 2 3
PriEiEs CRAa 2 1 1 2 1 1
=R 0,2 [ 0,2 |
E=I i I 1 0,2 |2 0,2 -2
oA 1 0.2 1— 02 -
. T ia—br—vavl 3 3 3 3
b [ Ah Wih o o= —v a1l 5 3 2 5 3 2
A I T 2 2 2 2
T T
e dm R B oo R R TG | 2 |1 171501 Swe | 20 | 19 115,51
T SRR 3 3 3 3
iR RS 3 3 3 3
e 5,6 3(2) 3 5,6 3(2) 3
R 2.3,4,5 3(2) 25 2.3,.4,5 3(2) 2=
e e 2 2 — 2 2 —
TS 2 2 2 2
L EE BT 0,2 {2} 0,2 2]
T ¥ 2B PE BN 0,2 2)— 0,2 [
R AR Tl 2 2
N— R =7 5 2 2 —
P AYESE: — 0,2 2)—
S a— 5 AT A 0,3 ((3))
N A= 4,7 2 2 —((3)) 2 2
tZE1LZE 2,4 2 2)—
kW ET 2 T IV AT I 0.3 (3) 0.3 (3)
25, 26, 28. 25, 26, 28,
GG ELEhe CT I IUSTH e R I 1 I RUSTE B
37 37
i i i i
87.33 29 129.30 29 87.33 20 129.30 29
3 i T T 3 i i T
RZED 1 Bh g Bkl
5077 2 4




